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  SET - IV 

1.  1

3

−  vkSj 1

2
 ds chp dk ifjes; la[;k dkSu ugha gS & 

(A)  1

6

−   (B)  0   (C)  
1

3
    (D) 

2

6

−   

Which is not a rational number between 
1

3

−
and 

1

2
- 

(A)  1

6

−   (B)  0   (C)  
1

3
    (D) 

2

6

−   

2.  90000  dk eku D;k gS\ 

(A) 30  (B)  300    (C) 90     (D) 81 

What is the value of 90000    -  

(A) 30  (B)  300    (C) 90     (D) 81 

3.  729 fdldk ?ku gS & 

(A) 13    (B) 17    (C)  9   (D) 7 

729 is the cube of –  

A)13    (B) 17    (C)  9   (D) 7 

4.  0.00000015  dk eku #i gksxk & 

(A) 60.15 10−

×     (B)  61.5 10−

×    (C) 70.15 10−

×   (D) 71.5 10−

×  

Standard form of 0.00000015  is – 

(A) 60.15 10−

×     (B)  61.5 10−

×    (C) 70.15 10−

×   (D) 71.5 10−

×  

5.  31

1 3

501

A

A+  bl Á’u esa v{kj A dk eku gksxk & 

(A) 6         (B)  7         (C) 8        (D) 9 

What is the value of letter A in 

31

1 3

501

A

A+  - 

(A) 6         (B)  7         (C) 8        (D) 9 
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6.  2 2 2
a b c+ +  esa ls 2 2 2

a b c− −  ?kVkus ij ÁkIr gksxk & 

(A) 2 22 2b c+   (B) 22a   (C)  2 22 2b c− −   (D) 22a−  

At 2 2 2
a b c+ + is subtracted from 2 2 2

a b c− − we get –  

(A) 2 22 2b c+   (B) 22a   (C)  2 22 2b c− −   (D) 22a−  

7.  2 2( ) 2ab bc ab c+ − dks ljy djus ij ÁkIr gksxk &  

(A) 2 2 2 2
a b b c+  (B) 2( )ab bc abc+ +  (C) 2 2 2 22a b abc b c+ +  (D)  2 2 2 22a b abc b c− +  

By simplifying 2 2( ) 2ab bc ab c+ − we get – 

(A) 2 2 2 2
a b b c+  (B) 2( )ab bc abc+ +  (C) 2 2 2 22a b abc b c+ +  (D)  2 2 2 22a b abc b c− +  

8.  28x y  vkSj 232 xy−  dk lkoZ xq.ku[k.M gksxk & 

(A) xy       (B)  -xy       (C) 8xy     (D)   -8 

Common factor of 28x y  and 232 xy−  is – 

(A) xy       (B)  -xy       (C) 8xy     (D)   -8 

9.  4 2144 ( 12 )x x÷ − dk gy gksxk 

(A) -12   (B)  212x−   (C)  12    (D)  412x−  

The solution of 4 2144 ( 12 )x x÷ − is – 

(A) -12   (B)  212x−   (C)  12    (D)  412x−  

10.  11+6p = 7 dks gy djus ij P dk eku gksxk & 

(A) 
3

2−

   (B)  
2

3

−
   (C)  2−    (D)  3  

The value of P in the equation 11+6p = 7 is – 

(A) 
3

2−

   (B)  
2

3

−
   (C)  2−    (D)  3  

11.  je.k dh vk;q glu dh vk;q dh rhu xquh gSA vxj glu dh vk;q x o"kZ gS] rks 10 o”kZ ckn je.k dh vk;q 

fdruh gksxh & 

(A) (3x+10) o”kZ    (B) 3(x+10) o”kZ     (C) (x+30) o”kZ      (D) (3x-10) o”kZ 

The age of Raman is three times than the Hassan. If the age of Hassan is x, what will be 

the age of Raman after 10 years – 

(A) (3x+10) Years   (B) 3(x+10) Years      

(C) (x+30) Years      (D) (3x-10) Years 

 



 

12.  eanh  ds dkj.k 500#0 esa feyus okyh ‘kVZ ds nke esa 30% dh deh gks xbZA vc ‘kVZ dk nke fdruk gksxkA 

(A) 650 #0     (B)  470 #0    (C)  530 #0    (D)   350 #0 

30% selling price of a shirt is decreased. If the selling price of the shirt is Rs. 500, what 

will be the price of this shirt now – 

(A) 650 Rs.    (B)  470 Rs.    (C)  530 Rs.    (D)   350 Rs. 

13.  6 uy ,d gkSt dks 12 ?kaVksa esa Hkjrs gSa rks 9 uy }kjk gkSt fdrus ?kaVks esa Hkjh tk,xh ! 

(A) 8 ?kaVk   (B) 18 ?kaVk     (C)  24 ?kaVk     (D) 6 ?kaVk   

Water tank is filled through 6 water tap in 12 hours, find the time taken to fill the tank 

trough 9 water tap –  

(A) 8 hours   (B) 18 hours    (C)  24 hours      (D) 6 hours 

14.  vkÑfr ds vuqlkj dkSu leyEc prqHkZt ugha gS & 

In the given figure which is not a trapezium - 

  

     

       AB DC�                     AD BC�              vk;r ABCD                      prqHkZt ABCD 

            (A)                             (B)                         (C)                                      (D) 

15.  vkW;yj lw= (F+V = E + 2) fdlls lacaf/kr gSA 

(A) ‘kh”kZ    (B)  Qyd    (C) fdukjk   (D) a, b rFkk c rhuksa 

Euler formula (F+V = E + 2) is associated with –  

(A) Vertices     (B)  Faces    (C) Edges    (D) All three a, b and c  

16.  6cm dh Hkqtk (AB) ij uhps fn, vuqlkj f=Hkqt ABC cuk;k tk jgk gSA dkSu lk f=Hkqt ugha cusxk &  

(A) 0 060 , 120A B〈 = 〈 =    (B) 0 060 , 60A B〈 = 〈 =   (C) 0 075 , 45A B〈 = 〈 =  

(D) 0 045 , 45A B〈 = 〈 =  

A triangle ABC is constructed, who base is AB = 6cm as given in the options. Which 

option is not correct –  

(A) 0 060 , 120A B〈 = 〈 =    (B) 0 060 , 60A B〈 = 〈 =   (C) 0 075 , 45A B〈 = 〈 =  



 

(D) 0 045 , 45A B〈 = 〈 =  

17.  ,d le prqHkZt dk igyk fod.kZ 16cm rFkk nwljk fod.kZ 30cm gSA bldk {ks=Qy gksxk & 

(A) 480 oxZ cm     (B) 240 oxZ cm (C)  92 oxZ cm  (D)  150 oxZ cm 

A diagonal of a Rhombus is 16cm and the second diagonal is 30cm. The area of the 

Rhombus will be –  

(A) 480 square cm     (B) 240 square cm (C)  92 square cm  (D)  150 square cm 

18  6m yEck] 3m pkSM+k rFkk 2m Å¡ps ?kukHk dk vk;ru gksxk & 

(A) 236m         (B)  336m      (C)   272m  (D) 372m  

What will be the volume of a cuboid, whose length = 6m, breadth = 3m and height = 2m – 

(A) 236m         (B)  336m      (C)   272m  (D) 372m  

19.  vk¡dM+ksa dks fu#i.k buesa ls fdlds }kjk ugha gksrk & 

(A) vk;r fp=   (B)  oxZ fp=    (C)  naM vkys[k   (D) f} naM vkys[k 

Presentation of a data is not shown by – 

(A) Histogram     (B) Square gram    (C) Bar Graph   (D) Double bar graph 

20.  ewy fcUnq dk funsZ’kkad gksxk & 

(A) (0, 0)      (B)   0        (C)   (1, 1)      (D)  (-1, -1) 

Co-ordinate of origin of a graph is – 

(A) (0, 0)      (B)   0        (C)   (1, 1)      (D)  (-1, -1) 
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